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And now that you say, paying for — X0 RP7I R3PD NIRRT RN
half — damage is a punishment ...

Overview

The X712 states that since we rule that Xolp 1"D then in the case(s) where a
dog ate a (large) sheep, etc., the 7"2 in 922 cannot extract payment from the
P 1, for we do not judge MmoIp °1°7 in 22 (only in *"X). It would seem from
this X713 that had we ruled that X177 1"5 then we would collect payment
from the > (even) in 222 (since it is X11MM). MOOIN rejects this notion.
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It appears (to moon) that this statement, ‘if a dog ate sheep, etc., it is 71w~

and payment for this damage cannot be collected in 922 (however in 79X

X7 it can be collected)’; this ruling is specifically limited to the one who

maintains X9 1"'D (according to this 7" it would be collectible in "X where they are

moIp 17 7) -

— 595 299190 ND NI NPT RID 99NRT INND DAN

However according to the one who maintains Xiya» 1'"'s, the P> is not
liable at all (he will be Mo even in *"R).

— NN NY 199107 250 SNNT

Because from where will you derive his culpability; it cannot be derived

from 392 (according to the X3wn 1"5 7") -
—MMP MY NPINa IND ©YMY ONDT NIN NINIIN \iral

For damaging with 397 is usual since the X177 1"5 7" maintains that oxen

generally are not considered to be guarded and are prone to damage, however -
— 929249 919X Y991 NaDIT NINNIN INDT NI NIWN INM)

By this case of a dog eating [large] sheep it is abnormal, for it is not the

manner of dogs to eat large sheep -
— 1974 N19IN NN RDIP P NI 9NT INIY HaN

However according to the one who maintains X21p 1''s then a 587 X275
21 K iS a P 77N -

$PONYINIMD )IPT 2) DY OGN DN DINWN NNINT
For both (a *1X 7287 X295 and 77p) are unusual (for this 7" maintains ond
MY MW PIn2 @MW and it is unusual for a MW to damage with his 17p),

even though by 399 the ox has intent to damage, and by "X 93x7 8395 there is
no P12 7>, nevertheless it is considered a 1997 77910.! Therefore in *"X the 1957 9¥1 is
liable to pay the Roip 1"9; however in 922 where we are not MoIp °17 J7 it is not
collectible.

! Others explain that we derive *1°X 9587 X273 from a mw: 7% of w1 177 (however there still is a difficulty
why is it 2"772 21). See: 465 7YY 19PN DX 1" . See also v MIX 7510 who explains that according to
the Xo1p 1"5 7"n the 17 oW is that it is 71Wwn» (and according to the X117 1"5 7"n the 17p oW is that it is 101D
P12, W,
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Summary
According to the X117 1" 7"n a 121 *1K OK7 X295 will be Mo even in >R

since it 1s 71Wn» and cannot be derived from 17p.

Thinking it over

1. There (seemingly) is a difficulty in the X7723; why does the X773 mention
the extreme cases of X710 79ORT RN MR DIKRT X295 to teach us the rule
that 922 moip °1°7 1°17 PX. The X3 could have taught it to us by a regular
case of 172! How does our mo01n resolve this difficulty?!2

2. What would the 7 be if the dog became a 79 to eat sheep?’

3. MooIN maintains that according to the Rivan 1"5 7" a MR HIRT 829D is
7o since it 1s ANWH and 121 °n°n . However there is a 7i1wn which states
1" 0own 0°901 M3 1770K8. Why does he have to pay according to the 1"9 7"n
R1MM, since 0°221 MO 793K is 71Wn it cannot be derived from 17p?!"

% See *"2 and (3 MX) 7"910.
3 See mopn Mk 1" .
* See 5"wnmm and (1D MX) T7"0.
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